War Photographer

Which two words are used to describe the war photographer’s home?

What's the adverb in the first line and what does it suggest?

Read line 10 again. What does this suggest about English life?

Which is the verb in line 11 and what does it suggest?

What’s the symbolism in the last line of the third stanza?

How is contrast used in the first two lines of the last stanza?

Who are the “they” in the final line?

Look again at line 16 and 17. What does the poet mean here? What’s the mood?
. How is a list used in the first stanza?

10.What tense is this poem in? Why is this important?
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